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#include <stdio.h>
#include <stdlib.h>
#include <time.h>
int main()
{

double dx=0.1;

int sum=0;

for (double i=-1;i<=1;i=i+dx){

for (double j=-1;j<=1;j=j+dx){

sum=sum+1;

}
printf("%f",sum*(dx*dx));//3.15
return O;

}
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dx=0.1
s=10
sum=0
foriin range(-1*s,1%*s):

for jin range (-1*s,1%*s):

if (iI*i+j*j)/(s*s)<=1:
sum=sum+1

print(sum/(s*s))
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#include <iostream>
using namespace std;
/* run this program using the console pauser or add your own getch,
system("pause") or input loop */
int main(int argc, char** argv) {

int x1=18,y1=22,r1=7;//|8],(7(18,22), & 7

int x2=17,y2=28,r2=8;//|E]:('»(17,28),1X 8

double dx=0.1;

int s=10;

int a=0;

for (double i=x2-r2;i<=x2+r2;i=i+dx){

for (double j=y2-r2;j<=y2+r2;j=j+dx){
if ((((i-x2)*(i-x2)+(j-y2) *(j-y2))<=8*8) && (((i-x1)*(i-x1)+(j-y1)*(j-
y1))<=7*7))
a=a+1;// ST

}
cout<<a/(s*s);// T LEHITE
cout<<8*8*3.14+7*7*3.14-a/(s*s);//267.82 > EEMHTE

return O;
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def aa(x,y,r):

a=(]

dx=0.1

s=10

foriin range((x-r)*s,(x+r)*s):

for j in range ((y-r)*s,(y+r)*s):
if ((i-x*s)*(i-x*s)+(j-y*s)*(j-y*s))/(s*s) <=r*r:



a.append(999*i+j*1.2)# L EEHE AR

return (a)
x1=18;y1=22;r1=7
x2=17;y2=28;r2=8
al=aa(x1,y1,rl)
#al=aa(1,3,2)
print(al)
print(len(al))
a2=aa(x2,y2,r2)
bl=set(al)
print(len(b1))
b2=set(a2)
print(len(b2))
b=(b1 | b2)
print(len(b))

T2 G
append(999*i+j*1.2)
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def aa(x1,y1,x2,y2,x3,y3):
return abs(x1*y2+x2*y3+x3*y1-x2*y1-x3*y2-x1*y3)
dx=0.01
s=100
sum=0
x1=0;y1=0
x2=2;y2=0
x3=3;y3=3
a=aa(x1*s,y1*s,x2*s,y2%s,x3*s,y3*s)
print (a)
foriin range(0*s,3*s):
for jin range (0*s,3*s):
al=aa(i,j,x1*s,y1*s,x2*s,y2*s)
a2=aa(i,j,x1*s,y1*s,x3*s,y3*s)
a3=aa(i,j,x2*s,y2*s,x3*s,y3*s)
print(al+a2+a3)
if a==(al+a2+a3):
sum=sum+1
print()
print(sum/(s*s))
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def aa(x1,y1,x2,y2,x3,y3):
return abs(x1*y2+x2*y3+x3*y1-x2*y1-x3*y2-x1*y3)
dx=0.01
s=100

sum=0



x1=0;y1=0
x2=2;y2=0
x3=3;y3=3
a=aa(x1*s,y1*s,x2*s,y2*s,x3*s,y3*s)
print (a)
for i in range(min(x1,x2,x3)*s,max(x1,x2,x3)*s):
for jin range (min(y1,y2,y3)*s,max(y1,y2,y3)*s):
al=aa(i,j,x1*s,yl*s,x2*s,y2*s)
a2=aa(i,j,x1*s,y1*s,x3*s,y3*s)
a3=aa(i,j,x2*s,y2*s,x3*s,y3*s)
print(al+a2+a3)
if a==(al+a2+a3):
sum=sum+1
print()
print(sum/(s*s))
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def aa(x1,y1,x2,y2,x3,y3):
return abs(x1*y2+x2*y3+x3*y1-x2*y1-x3*y2-x1*y3)
dx=0.1
s=10
sum=0
x1=0;y1=0
x2=3;y2=0
x3=3;y3=3
a=aa(x1*s,y1*s,x2*s,y2%s,x3*s,y3*s)
print (a/(s*s*2))
foriin range(0*s,3*s):
for j in range (0*s,3*s):
al=aa(i,j,x1*s,y1*s,x2*s,y2*s)
a2=aa(i,j,x1*s,y1*s,x3*s,y3*s)
a3=aa(i,j,x2*s,y2*s,x3*s,y3*s)
#print(al+a2+a3,end=",")
if a==(al+a2+a3)
sum=sum+1

if a1l==0 or a2==0 or a3==0:



sum=sum-0.33
#print()

print(sum/(s*s))
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